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1 #akE IEER BEHH 38 38 76
25% B¥ etih] 40 39 79
INHE EH AR 40 39 79
4 AR B 37 kil 40 39 79
5 b ZHH mR™ 39 40 79
6S5H B mEET 39 40 79
18K RE Ml 37 42 79
8 BN =70 EiEH 41 39 80
9FHA R il 40 40 80
10 #HH FX FEH 39 41 80
" BaE &z WEM 43 38 81
12 8N 1& FEH 42 39 81
13 %% E— ™ 42 39 81
14 IB% FA KZEH 41 40 81
155H# EE fatE™ 41 40 81
16 k¥ it MR 41 40 81
17 BR A= EER 40 M 81
18 LA %A =ikl 39 42 81
19 AR #£— R HET™ 42 40 82
20 =ik fB— MR 41 41 82
21 #8K FE EiEm 4 4 82
22 A B KER T 40 42 82
23 AL 158 ARM 43 40 83
24 SF8 2 kEam™ 43 40 83
25 NIl B INFHKTH 42 4 83
26 21U & INFHKTH 42 41 83
27 B XKE izl 42 4 83
28 #iR fo= izl 39 44 83
20 th kb &= mR™ 38 45 83
30 &% FHah INFHKH 43 4 84
31 BE IEA izl 41 43 84
RNEH BX A o] 41 43 84
33 /hF BRT] et 40 44 84
34 KR &35 etii] 46 39 85
35 EH R FEH 45 40 85
36 Zx B Ml 43 42 85
37 FE —3&A INTFRH 42 43 85
38 1Kk BE— INFHKH 42 43 85
9 JIE ES e 2 o] 42 43 85
40 &+ HARE £ Tl 46 40 86
M REB —H == 17 45 41 86
42 RAR =2 KEBET 44 42 86
43 Mk 1FE (/N =N 42 44 86
a4 £k —18 =il 46 41 87
45 i K K BT 45 42 87
46 =ik #H— ndiil ) 45 42 87
47 1M1 FR MR 47 41 88
8 =48 & ARM 46 42 88
49 FHH RiE WwEM 43 45 88
50 FRE EST et 42 46 88
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51 EHE &E et 45 44 89
52 F7H ¥R FlFE™ 44 45 89
53 E% L= FEM 44 45 89
54 &3 & MR 43 46 89
55 {Fik Ft FEER 47 43 90
56 RiL & kEa™ 46 44 90
57 Hep Bah J\#™™H 46 44 90
58 HH Ak Ea™ 44 46 90
59 AR R et 43 47 90
60 HiE FE Sk 48 43 91
61 FH I1ES fELlLTH 46 45 91
62 ER[E REF FEH 45 46 91
63 2H Mz /NN 44 47 91
64 2K 1EH eti] 43 49 92
65 AU & =kl 47 46 93
66 &k EAXER WF™ 46 47 93
67 FRA B ENdaH 46 47 93
68 UE HiE EiEm 48 46 94
69 B E— Ml 46 48 94
70 JThE AR EAER 44 50 94
71 MR EF] o™ 52 45 97
72 /xR F Ml 51 46 97
73 FEFT = FEM 50 47 97
74 BHF XEk FEM 49 48 97
75 @ BA WEM 50 48 98
76 dtiE E—BR FEM 55 44 99
77 5 HI5A FEH 49 50 99
78 [EFIH &z fMiETh 46 53 99
79 iR IEfA Ei&H 51 49 100
80 R HH FEM 55 46 101
81 FkR fg— EIFEM 50 51 101
82 T#t EA £ T ] 44 57 101
83 fRiX = gFHE™ 53 52 105
84 BEH EZ ka™ 60 50 110
85 IULAK 2 FEH 57 56 113
86 AT B FEM 57 59 116

REZR X BEHM 0 O 0
RE LB R=  BHEM
RIEINE RE R ETH
RE # EZ FHHEM
RE AR E=  HBFW
RiE =B 2% Hm
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